, KTM RC8 (’08-)
Salo Lscing FRONT + REAR AXLE SLIDERS

part# KTMRC8AS-F / KTMRC8AS-R

FRONT AXLE SLIDERS part# KTM-RC8AS-F

SLIDER PUCK SLIDER PUCK
[SDR-S1-FLAT]

[SDR-S1]
E; ﬂ@ AXLE BOLT [ASBT-M6300]
kﬂ_

N —— AXLE BOLT M25 —
\ [ASBT-M25]
FLANGE LOCK NUT M6
FLANGE LOCK NUT M6 [FLNT-6]
[FLNT-6] (pre-tightened)
REAR AXLE SLIDERS part# KTM-RC8AS-R
SLIDER PUCK SLIDER PUCK
[SDR-M6MFJ-17] PLAIN NUT M6 [SDR-M6MFJ-17]
INUT-6]
AXLE BOLT [ASBT-M6360] —
FLANGE LOCK NUT M6 FLANGE LOCK NUT M6
[FLNT-6] [FLNT-6]

(Pre-tightened - Do not loosen)

satoracing.com



